INSTALLATION INSTRUCTIONS

P43 | Recessed Linear

4”Slot

X7 (HARD CEILING CONCEALED FLANGE)

44600

Flush — X7

100-00190-14

#8-32 x %" SL HWH Type F Screw

100-00148-14

#10 x %6" HWH Screw

100-00286-14

#6-32 x %6” Phil PH Type 23 Screw

See Order Lens
43070 Aperture Guide
73321 Housing Aligner Spline
82484 Lens Removal Tool
29513 Aligner / Seam Joiner
MOUNTING BRACKET:

100-00126-14 %-20 Fender Washer

) 100-00165-14 14-20 Hex Nut
23161 Bracket Leg 53"
134810 Overhead Mounting Bracket Yoke with Nut

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US

100-00005-14

Y4 -20 x %" Round Head Machine Screw

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.
© 2015 All rights reserved — All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

10of 7
04-07-2021



P43 | Recessed Linear i
4" Slot

INSTALLATION INSTRUCTIONS

X7 (HARD CEILING CONCEALED FLANGE)

— Additional support to structural member may be required. Check with local building codes for requirement.
—  Wall to Wall Fixtures must terminate at wall (no end trims).
— Individual fixtures not intended for row mounting.

— Install fixture and seam hardware PRIOR to drywall installation.

LOUVER

X7 CROSS SECTION ‘ | SAFETY:
Safety
—_— 4 — 1 Cable

Louver ———»>

ROUGH-IN DIMENSIONS:
@Y%"K.O.
/

— 8 ——

— 3% —— — 5% —

el T, Yo

Ceiling Opening

. o
— o Access Plate @7%"K.O. ,_'_53/2__:
LIGHT POCKET INDIVIDUAL: ROW DIRECTION: INSTALL FROM LEFT TO RIGHT

- L FIXTURE DIM‘A’

Ceiling Opening = Dim A 247 s

e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e i 36" 36%"

! ! 48" 48%"

o e e e e e e e e e e e e e e e e e - 72” 725/3”

96" 96%”

Ceiling Opening = Dim A

Ceiling Opening is ALWAYS %" larger than fixture length

Ceiling Opening is always 2" larger then row length

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.
© 2015 All rights reserved — All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

20of7
04-07-2021



P43 | Recessed Linear
L Slot

X7 (HARD CEILING CONCEALED FLANGE)

1. Cut ceiling opening to dimensions specified and install drywall. (See page 1)
Remove reflectors.

Assemble mounting brackets and secure mounting bracket
legs to studs or ceiling joists (Figure 1).

FIGURE 1: g

Mounting g : 0 Metal Stud /
Bracket I 3 Ceiling Joist
Hardware

NOTE: Screws by others, type of screw
depends on type of ceiling support

FIGURE 3:

T
<

Access Plate

4. Mount fixture to mounting brackets and secure
using %-20 washer and nut.

5. Make all wiring connection through access plate. (Figure 2).

6.  Place aperture guides into the notches in housing (Figure 4A, 4B, 4C).

Mounting

Metal Stud or ~ Bracket

Ceiling Joist

Modular
Housing

4" Lock Washer
Y4"-20 Nut

Reflector

R
7. Secure trims to drywall

using drywall screws (by

others). ) /

Drive screws straight I

up. Angled screws may 8

distort fixture aperture Place aperture

guides on notches
(Figure 5).

prior to screwing
trim to ceiling

FIGURE 4A

8. Remove aperture guides

FIGURE 4B FIGURE 4C

and test lenses for

proper fit. (Guides can be
discarded after testing
lenses). LENSES SHOULD
SNAP INTIGHT WITH NO
BOWING OR SAGGING.

9.  Tapeand mud up to trim
edge. (Figure 6 & 7).

FIGURE 5

FIGURE7

\ N
. Trim Edge

FIGURE 6

10. Replace reflectors.
(Figure 3).
11. Install lens.

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.
© 2015 All rights reserved — All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

30f7
04-07-2021



P43 | Recessed Linear i
4" Slot

X7 (HARD CEILING CONCEALED FLANGE)

1. Install (2) housing aligner splines per seam and secure to housing using 3. Install finish plates at start and end of row and secure to housing using
#8-32 x %" HWH Self Tap Screw (Figure A1 & A2). (2) #10 x %6 sheet metal screws (Figure C).
2. Slide (2) aligner/ seam joiners into trim at the seam and secure to trim 4.  Refer to filler kit instructions to field trim filler kits (where used).
using #6-32 x %s” pan head screw (Figure B). 5. Lastlensin row to be field trimmed to size.
FIGURE A1 FIGURE A2 FIGURE B FIGURE C -
>

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 40f7

© 2015 All rights reserved — All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
04-07-2021



P43 | Recessed Linear

4”Slot

FILLER KIT

INSTALLATION INSTRUCTIONS

Power Sheers

Grinder

Tin Snips

1. Determine FILLER location & measure length of filler needed (Mark cut line around housing).

WALL TO WALL

Measure from last
fixture to end of row (~ 14"

LIGHT POCKET

Measure from last fixture

to ceiling opening
(-~ %s” for X3/X7)

PATTERN

P
P

Measure from last | !
fixture to connector ' '

Reg 3"Filler -

Filler housing marked for cutting

2. Disassemble FILLER Kit & Remove Reflector from previous row.

Wall Mounting

Clips (Perimeter) £

Driver

Reflector
Mounting
Bracket

Reflector

FLUSH SHOWN, SAME STEPS FOR REG 3"

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.
© 2015 All rights reserved — All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

50f7
04-07-2021



P43 | Recessed Linear
4 Slot

INSTALLATION INSTRUCTIONS

FILLER KIT

3. Measure Trim and Mark for Cutting

4. Cutand discard Filler Housing

WALL TO WALL & PATTERN ;7] LIGHT POCKET
//'//j
o ad
/////
/:/\
-
DISCARD
MEASURE
REQUIRED
- F
LENGTH {;'//// MEASURE
e REQUIRED
. LENGTH

=z 0
DO NOT CUT FILLER C,
REFLECTOR* :

5. Assemble Filler Kit with Driver & Trim (Do Not install Reflector with LED arrays).

#6 Tek Screw Use as Template
hen Field Drilling End Plate

/\\/
/

/ Driver

Use Scoring on
Housing as Guides for
Field Drilling/Screws

NOTE: Reflector will protrude,
cut end of the filler housing

* FOR SPECIAL SITUATIONS, THE 2" FILLER
REFLECTOR MAY BE PROVIDED WITH LESS
THAN 2’ OF LED BOARD.IN THIS CASE,
TRIM THE REFLECTOR TO THE LED BOARD
— THIS WILL NOT APPLY TO MOST

INSTALLATIONS

6. Install filler into ceiling & connect wiring.

7. Install spacer on reflector in previous housing.

#8-32 Nylon
Spacer

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 60f 7

© 2015 All rights reserved — All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058

04-07-2021



P43 | Recessed Linear §
4" Slot

FILLER KIT
7. Install filler reflector ‘above’ previous housing reflector. 8.  Slide reflector mounting plate OUT and UP one spot to secure
) reflector to previous housing.
DO NOT CUT
REFLECTOR OR
LED BOARDS
Slide our reflector .
mounting plate Adjust height on reflector
mounting plate
NOTE FOR D1R:
Remove larger reflector
. bracket from previous -
?ﬁ(ture ale re%lacte with Slide reflector mounting
e smaller reflector ;
. . . bracket from the cut plate back in
9.  Screw reflector into last bracket of previous housing. end of the filler housing

D1/D1G D1R
Reflector Mounting Plate Reflector Mounting Bracket

Filler
Reflector

Previous fixture's
reflector

B
f
o
. Filler Fixture

|
-

CUT AWAY DETAIL
OR SEAM

Previous fixture

PREVIOUS FIXTURE

11.  Complete wiring and install lens.

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

US Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data. 7of7

© 2015 All rights reserved — All products manufactured at: Prudential Ltg. 1774 E. 21st Street, Los Angeles, CA 90058
04-07-2021



